Math Analysis H       Unit 2 Ferris Wheel Problem
A Ferris wheel is 40 ft in diameter and is situated so that the lowest seat is 5 ft off the ground.  The wheel makes one revolution in 2 minutes.

1. Draw a picture of the wheel

2. Find the angular speed of the wheel in radians per minute and in degrees per second.
3. Consider a seat that starts at the bottom of the wheel.  Find the heights of the seat at 30 second intervals as it travels a full revolution.
4. Find the heights of the seat at 10 second intervals as it travels a full revolution. Hint: use Sp. Rt. Triangles
5. Use your data to make a graph of a function representing the height as a function of time in seconds
6. Consider a seat that starts at the top of the wheel.  Find the heights of the seat at 10 second intervals as it travels a full revolution.

7. Use your data to make a graph of a function representing the height as a function of time in seconds.
8. Compare your 2 graphs.
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